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Mal6 |Ft3il BEH BEINE 6/2 [16:40] 17.0 | 20.0 8 122.0 Oyl |BX®) |BrBhm |8y EREAEE 6/2 |6:
Mall (T3l BEH EHE 6/2 [10:10{22.0 | 20.0 4 1240 0y8 |HA#/I [BrEh |BELAE 6/2 | 6:
Nal8-3|BomAskmsAE |BEH CHIDEYRTIVAL 6/2 [10:10]22.0 | 20.0 4 [22.0 BEOEEEE 09 |RA®)N [BrEH  |IUTH 6/2 | 8:
Ma18-4 |3 &M FRKE 6/2 [10:10] 22.0 | 20.0 4 124.0 éA ® Oy10 | K& BrBm  [TEFBTKE 6/2 |9:
Mal9 [FE3E)I BEH = 6/2 [10:10{22.0 | 20.0 4 12601]°% Oyll | R&N REM XA 6/2 |9:
Ma20 sl EEH [REBIAE 6/2 [9:35(25.0 |22.0 6 |26.0 Oy12 | X&) REM ABNEKRY T 6/2 {10
Ma21 | %% B K BEH EBETASKREER 6/2 [10:10{ 22.0 | 20.0 4 122.0 Kal |dt/hBENl |BETH BHE 6/16 |12:
22 |RAKEKEE (BT RBRAKELRKE 6/1 [10:30{25.0 | 20.0 |1\, BY &L 2 _|11.0 Ka2 [dbNBE)I |BEH BBt V2 —FHi 6/16 |12
Ma23 |FcE Il BN HiREE 6/1 110:40125.0 [ 20.0 |&JLy, BHY EL 5 [21.0 |mRSELHSK Ka3 |mmegctie)| AR AEmEREEE V-1 | 6/16 |11
Ma24 |3l =k N\ (BF) 6/1 [10:50]25.0 | 20.0 |&L), BY &L 5 26,0 [I0EHS Kad [dtNBE)I |BEH B & S RAl 6/16 | 8:
Ma2b |l HEAS N (PF) 6/1 [11:20{ 25.0 | 20.0 |&L>, &Y &L 4 |24.0 Kab |d/h BNl |BET FHEE 6/16 |11:
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Tel |E&&MI sutEmER (g 6/2 19:35[19.0 | 20.3 24.0

Te2 @AM o EERKERER 6/2 19:55[20.0 | 21.0 24.0

Ted |BEEMIBUKE |)NIOT Z4587-1443k 6/2 110:00{20.0 | 21.3 23.0 |RE #X

Ted |BAEMI JIET RS K15 6/2 110:30]21.0 [21.0 18.7
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Ted |BARMNIBUKE |NIOT 1R KPS 6/2 110:40{21.0 | 21.0 19.8
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fzo Ffz. FAEGELTNFEDS SFBRINKRCHARNKROFANCHKBICEEN>TEL, RE, FHARNKRPZENARORRKIZED
TTRABCERLTELD, 2004 EMHEL2EAREYY TRTEELICLA2E-FKERENRI— LIz, RTZELIBMLTEEL
&,

OFEHELFEREICONT

20100 5lE, 2E—BFKERAEICEHELLEY 8meg /L ODERERNYITAMEE2-CODEECA—A—(Z&LAERIZEED
EET>TW3, CODIE, ERA Y MOV TIEAEL, 20OHhR{EZCODIEE TS, LEEZBAFBIIREKTERLTAET 3, BEXIGER
£, mS/mTRELTWS,

0202 45ENREHERIZONT
202 4FEF25MK, 2K%, 2BANSML, 23 7THATHEFER Lz, —FREHORMBIERTKENMEZ ZANAE M o5,
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hoQHKIZURIEED LB WVEZRL TN, COD ' ECOMEELQLEIZUTOEY THS,
00D : &b 1164, & 45thm, FYEILE 0.56 mg/L (+15%).
EC : Bt 94them, 3E 80, FHELE 0.29 nS/m (+1.2%)
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9:30 [17.5 [16.0 [kBABL JIETEK |4
9:50[19.0 [16.5 [kBABC JIETEK |4
10:15[20.0 [17.7 |EARYNEIFEZC N | 4
16:30] 24.0 | 19.0 |BYBLREELALGL |1 | 21.0 -
1645 24.0 [ 18.5 [BYELGRI G50 [T [ 2.4 | FElnD
17:0023.0 | 18.5 |[BYBLIEELALLEL |1 | 211
9:01120.0 | 200 |[BIROBRTEYHY |4 | 15.5
9:0320.5 [19.0 [BIROBRTEYHY |4 | 171
9:17[23.0 | 200 [ikOBRTEYHY |4 | 189
9:00]22.0 [20.0 [HBROBHTHYHY |4 186 |ap < 25y 0a
0:05[19.0 [19.0 [5ROBRCEYBY |4 (207 ] % =
9:15[17.0 |19.0 [mikOBRTAEYHY |4 |20.8
8:57(23.0 [19.0 [BIROBRTEYHY |4 |19.8
9:08]21.0 [19.0 [BIROBRTEYHY |6 |17.2
15:00[27.0 [22.0 |BYBLRSIALHAL |1 |22.4
14:15[26.0 [21.0 [BYBLERITALEL |1 |22.4 |BEXEEEIND
14:30[26.0 [21.0 |[BYBVESI GRG0 |1 224 |H—IL
14:45]26.0 [21.0 |[BYBLRSIALGEL |1 |22.4
13:06] 17.0 [18.0 |KBABEEE~ZEEN | 4 |13.0
13:11[16.0 [16.0 |[BmOEOKELSZL |3 |52.0
13:18[16.0 [16.0 |[BROZESHY 3 [47.0
9:00[23.0 [18.0 [mhbY. KEhL 4 [38.2
930230 [18.0 |&xE 7 [29.0
9:2221.0 [19.0 2 (213
9:13(21.0 [18.0 2 247
804230 |21.0 5 [31.4
820210 |24.0 8 149.7
8:22[21.0 [21.5 [B-BL\%Y 5 1327
8370210 [21.0 [a-BLpY 5 [0 [BrEOBRETS
12:55[20.0 [15.0 [#BA. KBS L 2 (340 |, £F95 T8y
12:47[22.0 [16.0 [ABHAAALLEL [ 2 [16.9 |B%H
8:54119.0 [18.0 |s/kiE, HkiEym 2 1226
0:41[21.6 |18.2 |[REL. B% (EA) 4 [21.3
9:00]18.0 [18.0 |KAAELH 4 [17.5
9:35[19.2 [21.2 [0PEB, ABZL 2 [17.8
6550 17.0 |16.0 3 1.7
6:15]16.0 | 16.0 5 20,1
850180 |18.0 |B& 3 [18.2
9:10{20.0 [18.0 IECBRAZL 3 [19.2
950210 [19.0 |IEEWH 3 120.7
10:03[19.5 [19.5 ALY E-TL5 F 285
12:20[31.5 [26.0 |KEZL 4 [18.8
12:10[31.0 [24.5 |[x2%L 4 [18.8
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